
Kaldur_freestanding bathtub mixer

 

 

CL/06.25.005.29

 

 

Part

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44

body
non return valve body
transit tube
set of 4 O-rings bottom transit tube
set of 4 O-rings top transit tube
stem
fixation bolt
floor cover
M4x16 bolt
M5x6 bolt
spout
cartridge spout
handle spout
cartridge fixation spout
aerator
O-ring aerator
spout transit piece
O-ring spout transit piece 12x1,8 (1x)
O-ring spout transit piece 14x2,0 (3x)
O-ring spout transit piece 6x1,8 (3x)
non-return valve handshower
O-ring shower tube connector 12x1,8
shower tube connector
O-ring shower tube
shower tube
cartridge handshower
cartrigde cap handshower
O-ring handshower handle
M4x8 bolt
handle
handshower centre
handshower front
handshower outlets
handshower body
cartridge body
cartridge cap body
M5x10 bolt and washer (4x)
fixation rosette
M14x18 bolt
built-in part
water connector protector (2x)
O-ring testing spout
testing spout
testing tube

40 39

38 37

8 7

6

24

24

23

22

21

26

27

28

30

31

12131432

33

34

17161511

29

18

19

20

10

9

1

31

30

29

36

35

2

5

3

4

25

41

42

43

37

44

Specifications:
waterpipe thread: G1/2
working pressure: 0,1Mpa ~ 0,5Mpa
working temp.: 3°C ~ 85°C
working material: normal water
producing standard: GB 18148-2003


